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(10 CLASS - 12020) GENERAL MATHEMATICS
15= 4% w» 20=u3 Py o DG~ 10— G- 19 74 uj/" Sl
SAS oS30 B Lz ena Tt esie L 1632 6D M A, B, C etz g Zir s SN
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(a+bf —(a-b)? =1 | @by —(a-b) =7 | (1)
; 2@+bD (D) 4ab (@  a™b® (B)  -dab A
The symbol v/ is called the radical sign of index PRV S PUCTIN RN ACTIR ()
, oy 20 1 ® 0W
Factorization of (42 -1 is | A8 2P -1 | (3)

G-D&+3) M x-D&-3) © G+D&E-3 B G+DG+3) (A
EaP(1) F /P x-1) PO = KP-2xP45x +1 1 | @
If P(x)= x-2x*+5x +1 is divided x — 1 then (1) =

0o M -7 © 5 B 5 W
L.CM of 12p°¢*“8p® is ey 12p°¢ 8 p? | (5) |
24p°¢* (D) 12pq (© ' 24p’q B 24pg (B
¢n x>z 7 y>z sx>y JdLz 0 y'x sutef 37| (6

For any three numbers X, yand zif ‘x> yand y >z then x>z
Additive property of inequality ==bd*Jabi-Z (A
Multiplicative property of inequality =64 =t Z (B)
Transitive property of inequality =cs*eebfcnl-F (D)  Law of Trichotomy Jpr s (C)
The symbol > stands for <06 = ot | (D
Equalto «1,£ (C)Greater than or equalto /ity (B) Greater than 2= (A
Less than or equal to s/ t4 < (D)

Quadratic formula is e SattaGnn | (B)
~b+ Vbi-4ac (D)  +Vbi—42ac © L*z'i@ ® @- A
Solution set of (x-1=4 is L el x17=4 O
| (-1,31 @ {1,-5) © 1,5} ® {1,3} @
Matrix [g 2] is called : <t [0 4] g 1 A0
Rectangular Matrix /s> (C) Row Matrix _/5¢45 (B) Diagonal Mafrix 5 (A)
Null Matrix 6 (D)
The number of rows and ¢olumns in a matrix determine its PR ST - Lt s A S s | (1) |
Determinant & (D)  Columns /¢ (C) Rows 45 (B) Order -, (A |
An arc greater than a semi circle is called QWU aningd | (12)

Diameter 4 (D) Majorarc o7 (C) Chord J» (B) Minorarc +2°y5 (A)

| ‘ankf»’.;ébuﬂl?aedb-’ié—ﬁ' (13)

A line joining one vertex of a triangle and perpendicular to its opposite side is called J
Side bisector ¥’ (D) Median & (C) Altitude (6.4 (B) Angle bisector it (A

Area of square with side * S’ is : _ <3 KnS LG 0 | (18)
| SPM 28 (© 45 B SW
In the plane with every ordered pair is associated e brnllia e il 2 a5 A1 | (15)

Four points w4 (D) Twopoints +6n (C) Zero * (B) A unique point w2l (A
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£2.10 =3 (U)o  GENERAL MATHEMATICS (i)
60 = AJ D6y -19-6, 2.0 GROUP : FIRST  tges)”
Q.No.2 Write Six short answers to the following 26 = 12 4-5“’ el L ey g s 2 Ay
Define pure surds d{.u g A8 e ]
| If PGO =4x"+3%* 5% + 1 , then find P(-1) 2o PCD I POO = 4x*+3%2 - 5x+1 S| 2

Rationalize the denominator \/§1+ 5 ﬁ1+2 2t | 3

Define a cubic polynomial %‘-’:..y FEG e | 4

Factorize X% +9x + 20 x> +9x + 20 "d_ﬁjj 5

Factorize x — 8xy3 . X — 8xy° 2_5":5 716 |

| S e b Lkias s | 7 ?

On which expressions , the square root of an algebraic expression consists of ? -

Find L.CM. xyz,xy’z,xyZ’ x’yz, xy*z , xyz* Z_j?}*‘;,lg Sioiss | 8

Find HCF. l4a’bc , 21ab’ l4a’be , 21ab® kP | 9
Q.No.3  Write Six short answers to the following ~ 2x6=12 & feyz FLotrsetdin 3740y

Solve vx—1 =10 Vi—1i=10 2F/ |1

Solve 6-x>4 6-—x>4 dfd’ 2

' Define Linear Equation. Give an example d’-:db-éf Ly e | 3

Solve 2x*=3x ! 23=3x LES 4

Solve by factorization x*—6x+5=0 X —6x+5=0 :—.:""rd"dj,.ngg 5

Write down the quadratic formula ’4( ST S eieBnss | 6

Define Symmetric Matrix PSS |7

Zrwrorn L o B 4 A
8= [; J] ‘c=[2 5] thenfmaB+cC -

Find A" if , A=[ 2] A=[l M fefent|o
‘Q No.4  Write Six short answers to the following 2x6 = 12 S iz Letrga Edin 4 Adv
Find the value of x and y angles A .»-.’"?-:‘”JJ 2y x| 1
Define Reflex angle Se /Lf;.:;rjgrg 2
Define a Polygon Ses Ve S| 3

Draw a semi-circle with diameter 4 cm and center at O Srassdn s L U F4,0 5,1 4
| Define the centroid of the triangle FafSsslLet |5 |
a=3,b=4,c=7 ehic’mlmlyia,b BLE T el e lb | 6

| Find the third side of right triangle with ‘a’and ‘b’ and hypotenuse ‘¢’ a=3, b=4, c=?

Define volume 2—‘_?( ot 7S r’ﬂ 7
Define Cartesian plane %’..g}"&dﬁfﬁ;s’ 8
Write the distance formula LA M o i | 9
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NOTE: Attenr pt any THREE questions from this part 8 x 3 =24 ‘L,r SUret Jf.:.;.!.‘.'.-n?w s
x+—-— y x—- Z"}J"J}‘x=\/— vZ /i| W-5
If x=+v3-vZ, thenfindthevaluesof x- > and X'+
Lo fIin g x+3 f PO=4x*+10 +19x+5 Ji| B
If Px) =4x*+ 10x> + 19x + 5 is divided by x+ 3 then find the remainder
%‘?:“"Lﬁip‘ b0} —m X+ 2%x* - 11x - 12 r‘”hblfc}l):l M 6x°— 3x2 -56x — 48 u,aﬁl)"v(u_r".iﬁ) 1 (A)-6
The product of tw polynomials and their H.C.F are x*+ 6x°~ 3x* -56x — 48
and x>+ 2x* — 11x — 12 respectively. Find the L.C.M.
x-2 x4 1 x-2 x—-5 1
Bolve == -—: 2> = W S B 4‘0’ B
Solve by using ths quadratic formula x-1x+3)-12=0 P il K | (DT
LR P s C=55° muB=65°, mBC=5.4 Al bell| B
Construct A ABC in which m BC=5.4 , m«B =65°,m¢C =55°, find the centroid of a triangle
W17 3 4 L pi 9 B )
¥A= [’ o] thenfind A7A 2 C A AR
Use Cramer’s rule to solve the simultaneous equation  x—3y=35 f:_’-'-r Slabsspe s )l S| B)
2x-5y=9
A6 Juhsb S SIS AL | (W9
Find volume of a cone with altitude 9 cm , radius of base is 6 cm
v
WA C6,3) # BG2,3), AW, 3) W B)

Show that the poins A(4,3), B(-2,3), and C(-6,3) are collinear
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(10® CLASS - 12020) CENERAL MATHEMATICS
15 = 4 F ¢ w20 =5 10 o sl e Lz
i Jer Lirernepiind e Ly ﬁ;Q{drz_Lgﬁ..’g.;D SAA,B,C cui b leldivs ey
Enr o nsd iz S S S oM E S Uik iae L o o |
DG ~10 - 61-20 1AJir
& Urud, 2 QO i BOO £QU) # 0 i i AR T2 i | (D)
An algebric expression of the form ;_% , Q) % 0 , P(x) and Q(X) are polynomials , is called a
Mixed surd “1i6-4¥ (D) Surd “i14s+ (C) Rational expression Lzt (B) Rational number 47t (A)
va=a'/? is a surd of order cpnk a=al2l s | ()
2D 1© ;B Zao » QA
A quadratic polynomial is of degree < bt 12 B | B
3 D 2 © 1 ® 0 W@
| If x—a is a factor of PG , then P(a) is € P(@) Fnihrzé PGOx—a’ Ji | @)
| a M -a © 1@ 0 Q!
| LCM of 12p°¢°8p” is e Siisnk 12p°q 8 p* | (5)
12p%q D)  24p@ (©  24p'q B)  24pg (A
Solution of x| =3 is cerS¥ x|=3 (6
- | 0} @ {#£3} © {3} ® (3} W
Solution of VX — 1=75 is curfrx=1=5 | (D
8 (5} D (5} (© (24} B (26} W
Solution of x*-9=0 is cir ¥ K-9=0|®
3D () © (#9 ® (9} W
A quadratic equation has a degree . et betladom | (9
- oM 1O 2 B 3 W
Order of [4,7]=? Y= 6 [4,7] % | A0
4by7 @ 20yl (€ 1by2 B byl (A
Additive inverse of [i g] is =7 T 't 11 [2 E] an
2 Mo o [Lile (& Jw
A triangle containing three acute angles is 0 Unnb g tiuE LS sl | (12)
Obtuse triangle <457k, 5 (C) Right triangle 2o,/ (B) Acute triangle 24>,/ (A
Scalene triangle +4&{uu i D) |
| The angle bisectors of a triangle are | it gl e | (13)
Non-concurrent 434 7 (D) Perpendicular 7, 22T (C) Concurrent #£ 44 49.L1 (B) Collinear 17 (A)
Volume of a cube with edge * £ is | w8 EAREA G| (14
24D £ © £ (B) 3¢ (A
d=(xz—x0)% + (2-y1)? is ¢ d=/(xz=%1)2+(y2—-¥1)? | (15)
Collinear points 4557 (C) Equal points -i$:L+ (B) Distance formula ¥l (A)}
- Non-collinear points 657 Z (D)
110 (0bj)-12020—50000 SEQUENCE - |
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210 = b (Jio) o  GENERAL MATHEMATICS FLd 2
60 =4S DOR—10-81L2D GROUP : SECOND  [yasgs/
Q. No.2 Write Six short answers to the following 2x6 =12 £” (F =M AL ey g SLLita 2 /Jrf
PO oA Ie et L, tenfmdPCD | G PeD TP =t 3o sx+1 S |
Reduce the rational expression to lowest form (%) a‘.:r Szt Pui A rFeds |2 |
Define Real Numbers Ly SeE |3
Define Quadratic poiynomials and give example st 25{ GG | 4
Factorize 36d%-1 " 36d%1 ZF6f |5
Factorize 27x° — 64y | 27 —64y° 2HGA | 6
Define LCM. oy S | 1
| Find L.C.M. by factorization 2ab , 3ab, 4 ca Lol fiowmss i | 8
Find H.C.F. by factorization 8xy’z’, 12x’y’Z’ sxy’2 , 1252 L s | 9
Q.No.3  Write Six short answers to the following _ 2x6 =12 S F P Loty getdion 340y
Solve V3x+4 =7 VBxta=1 &JS|1
Define Linear Equation. é{ Sy | 2
Solve linear Inequality () x+3 <7 GD6x>4 Dxt3 <7 GD6x>4 LRSI U7 |3
Solve by using factorization 3x° -8x -3 =0 3 -8x-3=0 ZZSEFin 4
How many ways to solve Quadratic equation. Write their Name g}'v-.;.&clﬂf SR fE bl | 5
Solve 2x*=3x | 2E=3x LS 6
Define 1dentity Matrix : . ¢ 2y PSS | T |
o A+B 4B+£;Id‘-(.:.ft‘ 3,; CZE Al B= g 7 ca=i 3 si)e
i A=[, ;] .B" o o] o= 5] then fitd AsB=B+A
T e oo i e vk
Q.No.4  Write Six short answers to the following 2x6 =12 Jr L Fen Latygafdits 4 A
| Define Reflex Angle P W R R
_Befine Adjacent Angles r__‘_”r i b | 2
Find the value of *x’in the given triangle  [7=——5C> | Foedd x SI e ds |3
'J"
< 45° I KIS AETAL S e burd | 4
Constrict a triangle whose two sides of measure = cm and 5 cm and the included angle between them is
of measure 45°
Define Tangent of Circle P e Lt | S
~ a=5,0=13,b=? L8l P e A ITT | 6|
Find the third side of right triangle inwhich a=5, ¢=13 ,b=7
| The side of an equilateral triangle is 6 cm. Find its area Lo S K 6T eI | T
| Define collinear points | Sy sl |8 ]
Describe the location of (-2 , 4) on the number plane :Z-;‘-”;LF/ (2,8 B |9
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NOTE : Attempt any THREE questions from thispart ~ 8x3=24 ZFUfUrfifeit o LS
! 1 # £ - l ¥ ..].'- E (A) "':
If 2= VIO +3 thenfind (P +2) Eew(P+3) 7 3=VI0O+3 [
Factorize x*+ 64 x+64 2Z4f | B®
; : xt—rt Xx-y | x*+y? G A x-y | xZ4y? (A) -6
Simplify xe-zn iyl x(hy) | x 2-2xyry? X(x+y)  x d‘;f/ﬁ
-2 , 2 _ x-4 22 x4 o 42))
R L TRy T te<T &Y
!
Solve by using qadratic formula G-1Xx+3)-12=0 ’d_{d’:_ugf,b’aw; A7
Construct a rectarigle with sides 10 cmand 6 ¢t - W2 F 6 10ULINL Aot 2™ | B)

: | woxX1.r3 ojsrez 1 5. 8
Find w,x,y,z suchthat [y Z]+{-1 5]_[6 __3] ‘,.éd!;?v'"w,x,y,z 0]
Solve by the matr x inversion method - 2x-5y=1 é._‘_!*‘-” Sl sus | B

3x-Ty=2
L 3K 1311245 UL At | (A)-9
Find the area of a iriangle whose sides are 5, 12 and 13
WBBAL C7,3) s BG,2), AC1, D wsFer| @

Show that the points A(-1, 1). ,B(@3,2),and C(7,3) are collinear
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